## **CORRESPONDENCE FEBRUARY 11, 2025**

### **ADMINISTRATION**

1. <u>Board of County Commissioners Resolution No. 2025-94</u> appointing Christopher Dour and Dorothea Kominos to the MCMUA Board to serve a five-year term to expire on February 1. 2030, without salary. Also appointing Ronald Smith to the MCMUA Board to serve an unexpired five-year term, to expire on February 1, 2026, without salary.

### **WATER**

- 2. <u>Letter</u> dated February 5, 2025 to Morris County M.U.A. from Douglas Meyer, D. S. Meyer Enterprises, L.L.C. withdrawing their bid from the Pleasant Hill Road 24-Inch PCCP Retirement Phase I project bid on January 30, 2025.
- 3. <u>Letter</u> dated February 7, 2025 to Larry Gindoff, Executive Director, Morris County M.U.A. from Michael McAloon, P.E., Suburban Consulting Engineers, Inc. regarding Bid Review and Recommendation for MCMUA Contract No. 2024-W01, Pleasant Hill Road 24-Inch PCCP Retirement Phase I.

### **SOLID WASTE**

4. <u>Letter</u> dated January 17, 2025 to James E. Deacon, Solid Waste Coordinator, MCMUA, From Jill Aspinwall, Section Chief, NJDEP Bureau of Waste Planning and Licensing, approving Administrative Action to allow Electronic Recyclers International, Inc. Class D (Universal Waste) Recycling Facility to receive, process, store and transfer non-hazardous end-life solar panels.

### **Board of County Commissioners Morris County, New Jersey**

RES-2025-94

Adopted: January 8, 2025

BE IT RESOLVED by the Board of County Commissioners of the County of Morris in the State of New Jersey that Christopher Dour and Dorothea Kominos be and are hereby appointed to the MORRIS COUNTY MUNICIPAL UTILITIES AUTHORITY to serve a five-year term to expire on February 1, 2030, without salary.

BE IT FURTHER RESOLVED that Ronald Smith be and is hereby appointed to the MORRIS COUNTY MUNICIPAL UTILITIES AUTHORITY to serve an unexpired five-year term, to expire on February 1, 2026, without salary.

RESULT:

ADOPTED [UNANIMOUS]

MOVER:

Deborah Smith, Commissioner Christine Myers, Commissioner

SECONDER: AYES:

Selen, Shaw, Krickus, Mastrangelo, Myers, Smith

ABSENT:

Cabana

I hereby certify the above to be a true copy of a resolution adopted by the Board of County Commissioners of the County of Morris at a regular meeting on January 8, 2025.

Debra L. Lynch, Clerk of the Board

Tel NJ: (201) 444-1301 Fax NJ: (201) 444-1302



### D. S. MEYER ENTERPRISES, L.L.C.

Complete Asphalt Pavement Maintenance & Other Related Construction Services 2 North Street Suite 2A • Waldwick, New Jersey 07463 Established 1987

February 5, 2025

### SENT VIA EMAIL & CERTIFIED MAIL

Morris County Municipal Utilities Authority 370 Richard Mine Road Wharton, NJ 07885 (973) 285-8390

Suburban Consulting Engineers, Inc. 96 US Highway 206, Ste 101 Flanders, NJ 07836 (973) 398-1776

Re: Pleasant Hill Road 24-Inch PCCP Retirement - Phase 1

To Whom it May Concern:

Please accept this letter as our formal request for withdrawal from the **Pleasant Hill Road 24-Inch PCCP Retirement - Phase 1** project bid on 1/30/2025.

Line Item # 8 shows a lump sum of one (1). We misunderstood that there were two (2) specialty connections and two (2) adaptors included in the lump sum. The cost of these materials is greater than \$60,000.00 not including labor for installation. We also misunderstood that the connections were in two locations verses one. We misinterpreted the specifications and plans provided and therefore request withdrawal from the project.

We appreciate the opportunity to bid this project and hope to work together in the future.

Sincerely,

Douglas Meyer

# <u>S</u>

### SUBURBAN CONSULTING ENGINEERS, INC.

#### February 07, 2025

### Via Electronic Mail (LGindoff@co.morris.nj.us) and Regular Mail

Morris County Municipal Utilities Authority 214A Center Grove Road Randolph, New Jersey 07869

Attn.: Larry Gindoff, Executive Director

Re.: Township of Randolph, County of Morris, State of New Jersey

Morris County Municipal Utilities Authority

Pleasant Hill Road 24-Inch PCCP Retirement - Phase 1

**Bid Review and Recommendation** 

File No.: SCE-R8125.Y24

MCMUA Contract No.: 2024-W01

Dear Mr. Gindoff:

On Thursday January 30, 2025 at 2:00pm, the bids received for the above referenced project were opened at 370 Richard Mine Road, Wharton, New Jersey. Twelve (12) bids were submitted to the Morris County Municipality Utilities Authority (MCMUA) in advance of the bid opening. **SUBURBAN CONSULTING ENGINEERS INC.** (SCE) has tabulated the twelve (12) bids in detail on the attached Bid Tabulation Summary.

This bid package includes a Base Bid amount and Supplemental Bid amount. The intended basis of contract award is to award the Base Bid contract to the lowest responsible bidder. The Engineer's Cost Estimate for the Base Bid is \$1,329,810.00, Supplemental Bid is \$119,000.00, and for the entire project is \$1,448,810.00. The total Base Bid amounts from each bidder range from \$1,077,545.00 to \$1,948,550.00; as shown on the summary below.

BIDDER	BASE BID	SUPPLEMENTAL BID	TOTAL BID AMOUNT
D.S. Meyer Enterprises, LLC	\$1,077,545.00	\$126,000.00	\$1,203,545.00
Underground Utilities Corp.	\$1,282,980.00	\$182,000.00	\$1,464,980.00
Pacific Construction, LLC	\$1,290,793.90	\$139,300.00	\$1,430,093.90
Persistent Construction, Inc.	\$1,466,460.00	\$120,540.00	\$1,587,000.00
Pillari Bros. Construction Corp.	\$1,488,379.00	\$154,000.00	\$1,642,379.00
John Garcia Construction Co., Inc.	\$1,525,785.00	\$143,500.00	\$1,669,285.00
Your Way Construction, Inc.	\$1,554,029.00	\$118,650.00	\$1,672,679.00
Spiniello Companies	\$1,713,715.00	\$144,550.00	\$1,858,265.00
P. M. Construction Corp.	\$1,742,870.00	\$126,000.00	\$1,868,870.00
Sanitary Construction Co.	\$1,828,250.00	\$171,500.00	\$1,999,750.00
Montana Construction, Inc.	\$1,914,375.00	\$210,000.00	\$2,124,375.00
New Prince Concrete Construction Co., Inc.	\$1,948,550.00	\$140,000.00	\$2,088,550.00



**D. S. Meyer Enterprises, LLC.** submitted correspondence within five business days after the opening of the bids, requesting withdraw of their bid in accordance with N.J.S.A. 40A:11-23.3, citing a major mathematical error on their bid and they cannot complete the project as awarded and enforcement of the contract, if actually made, would be unconscionable and therefore is considered non-responsive. Your Way Construction, Inc.'s extended totals have been corrected where noted in accordance with the unit prices provided.

Given the unique nature of the project work, the number of bids received and range of pricing offered indicates that the objective of competitive bidding has been achieved.

Our review of the eleven (11) bids indicated that **Underground Utilities**, **Corp.** whose offices are located in Linden, New Jersey is the apparent low responsible bidder for the base bid. Unfortunately the supplemental bid amount is not being considered due to exceeding the engineers cost estimate. SCE has checked the state and federal level debarment lists to confirm that the contractor does not have an active exclusion from award consideration. All other aspects of their bid appear to be complete.

SCE performed external reference checks and received one response from CME Associates for several projects performed for the Jersey City Municipal Utilities Authority. The reference provided favorable feedback, indicating that the projects were completed in a professional manner, quality workmanship, adherence to the overall project schedule, and on budget. One project mentioned included removing existing 12 and 16-inch PCCP. The PCCP was removed entirely and replaced with DIP. The new DIP was connected to existing DIP.

The apparent low bidder **Underground Utilities**, **Corp** has successfully completed numerous pipeline replacement projects over the past two decades and our Project Manager has worked with **Underground Utilities**, **Corp** on projects of similar scope and size in the past. Based on our review of the Contractor's previous work experiences, **Underground Utilities**, **Corp** has provided evidence of their ability to complete this project.

Based on the above, SCE recommends awarding the Base Bid to *Underground Utilities, Corp* in the amount of \$1,282,980.00.

Should there be any questions regarding this recommendation, please contact our office. Thank you.

Very truly yours,

SUBURBAN CONSULTING ENGINEERS, INC.

Michael K. McAloon, PE

Principal Engineer

afs/ekd

**Enclosures:** Bid Tabulation Summary

MORRIS COUNTY MUNICIPAL UTILTIES AUTHORITY
PLEASANT HILL ROAD 24-INCH PCCP RETIREMENT - PHASE 1
TOWNSHIP OF RANDOLPH, COUNTY OF MORRIS STATE OF NEW JERSEY
MCMUA CONTRACT NO.: 2024-W01

BID OPENING: JANUARY 30, 2025 AT 2:00PM

						DS MEYER ENTERPRISES, LLC UNDERGROUND UTILITIES CORP.			PACIFIC CONS	TRUCTION, LLC	PERSISTENT CONSTRU	ICTION, INC.	PILLARI BROS. CONSTRUCTION CORP.		JOHN GARCIA CONSTRUCTION CO., INC.			
				ENGINEER'S COST ESTIMATE		2 NORTH STREET #2A WALDWICK, NJ 07463		711 COMMERCE ROAD, LINDEN, NJ 07036		350 MONTGOMERY STREET, PASSAIC, NJ 07055		55 58 INDUSTRIAL AVE, FAIRVIEW, NJ 07022		65 SQUANKUM YELLOWBROOK ROAD, FARMINGDALE, NJ 07727		510 GETTY AVENUE, CLIFTON, NJ 07011		
ITEM NO.	DESCRIPTION	BID QUANTITY	UNIT	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	
BASE BID																		
1	MOBILIZATION	1	LS	\$ 45,000.00	\$ 45,000.00	\$ 15,000.00 \$	15,000.00 \$	40,000.00 \$	40,000.00	\$ 60,000.00	\$ 60,000.00	\$ 35,400.00 \$	35,400.00	\$ 45,000.00	\$ 45,000.00	\$ 60,000.00 \$	60,000.00	
2	SOIL EROSION AND SEDIMENT CONTROL	1	LS	\$ 5,000.00	\$ 5,000.00	\$ 100.00 \$	100.00 \$	5,000.00 \$	5,000.00	\$ 10,000.00	\$ 10,000.00	\$ 22,300.00 \$	22,300.00	\$ 15,000.00	\$ 15,000.00	\$ 100.00 \$	100.00	
3	EXCAVATION, TEST PITS (IF AND WHERE DIRECTED)	5	CY	\$ 300.00	\$ 1,500.00	\$ 1.00 \$	5.00 \$	300.00 \$	1,500.00	\$ 250.00	\$ 1,250.00	\$ 1,210.00 \$	6,050.00	\$ 2,000.00	\$ 10,000.00	\$ 500.00 \$	2,500.00	
4	EXCAVATION, ROCK (IF AND WHERE DIRECTED)	20	CY	\$ 200.00	\$ 4,000.00	\$ 50.00 \$	1,000.00 \$	300.00 \$	6,000.00	\$ 200.00	\$ 4,000.00	\$ 415.00 \$	8,300.00	\$ 844.00	\$ 16,880.00	\$ 200.00 \$	4,000.00	
5	HOT MIX ASPHALT 25M64, BASE COURSE, 8" THICKNESS (TRENCH)	890	SY	\$ 65.00	\$ 57,850.00	\$ 80.00 \$	71,200.00 \$	48.00 \$	42,720.00	\$ 0.01	\$ 8.90	\$ 160.00 \$	142,400.00	\$ 95.00	\$ 84,550.00	\$ 40.00 \$	35,600.00	
6	8" DIP CL 52 WATER MAIN & FITTINGS	110	LF	\$ 195.00	\$ 21,450.00	\$ 150.00 \$	16,500.00 \$	530.00 \$	58,300.00	\$ 220.00	\$ 24,200.00	\$ 1,650.00 \$	181,500.00	\$ 950.00	\$ 104,500.00	\$ 200.00 \$	22,000.00	
7	12" DIP CL 52 WATER MAIN & FITTINGS	2,475	LF	\$ 240.00	\$ 594,000.00	\$ 200.00 \$	495,000.00 \$	245.00 \$	606,375.00	\$ 250.00	\$ 618,750.00	\$ 195.00 \$	482,625.00	\$ 261.00	\$ 645,975.00	\$ 300.00 \$	742,500.00	
8	SPECIALTY CONNECTION 24" PCCP TO 12" DIP (FROM STA. 24+26 TO STA. 24+75) COMPLETE IN PLACE	1	LS	\$ 125,000.00	\$ 125,000.00	\$ 28,000.00 \$	28,000.00 \$	115,000.00 \$	115,000.00	\$ 80,000.00	\$ 80,000.00	\$ 87,550.00 \$	87,550.00	\$ 83,900.00	\$ 83,900.00	\$ 75,000.00 \$	75,000.00	
9	WATER MAIN DISINFECTION & DECHLORINATION	2,585	LF	\$ 6.00	\$ 15,510.00	\$ 4.00 \$	10,340.00 \$	1.00 \$	2,585.00	\$ 1.00	\$ 2,585.00	\$ 1.40 \$	3,619.00	\$ 8.40	\$ 21,714.00	\$ 1.00 \$	2,585.00	
10	1" WATER SERVICE CONNECTION	12	EA	\$ 4,000.00	\$ 48,000.00	\$ 1,800.00 \$	21,600.00 \$	2,000.00 \$	24,000.00	\$ 3,500.00	\$ 42,000.00	\$ 4,550.00 \$	54,600.00	\$ 4,670.00	\$ 56,040.00	\$ 2,500.00 \$	30,000.00	
11	HYDRANT ASSEMBLY	6	EA	\$ 12,500.00	\$ 75,000.00	\$ 9,500.00 \$	57,000.00 \$	17,000.00 \$	102,000.00	\$ 10,000.00	\$ 60,000.00	\$ 17,600.00 \$	105,600.00	\$ 18,200.00	\$ 109,200.00	\$ 17,500.00 \$	105,000.00	
12	8" GATE VALVE	5	EA	\$ 5,000.00	\$ 25,000.00	\$ 3,600.00 \$	18,000.00 \$	4,000.00 \$	20,000.00	\$ 5,000.00	\$ 25,000.00	\$ 3,050.00 \$	15,250.00	\$ 3,170.00	\$ 15,850.00	\$ 6,500.00 \$	32,500.00	
13	12" GATE VALVE	11	EA	\$ 7,500.00	\$ 82,500.00	\$ 5,800.00 \$	63,800.00 \$	6,500.00 \$	71,500.00	\$ 8,000.00	\$ 88,000.00	\$ 7,000.00 \$	77,000.00	\$ 5,770.00	\$ 63,470.00	\$ 12,000.00 \$	132,000.00	
14	24" PCCP LINE STOP (IF AND WHERE DIRECTED)	1	EA	\$ 100,000.00	\$ 100,000.00	\$ 33,000.00 \$	33,000.00 \$	31,000.00 \$	31,000.00	\$ 45,000.00	\$ 45,000.00	\$ 20,000.00 \$	20,000.00	\$ 52,500.00	\$ 52,500.00	\$ 52,000.00 \$	52,000.00	
15	SOIL WASTE CHARACTERIZATION (ALLOWANCE)	-	-	-	\$ 10,000.00	- \$	10,000.00	- \$	10,000.00	-	\$ 10,000.00	- \$	10,000.00	-	\$ 10,000.00	- \$	10,000.00	
16	MAINTAIN AND PROTECT TRAFFIC	1	LS	\$ 20,000.00	\$ 20,000.00	\$ 15,000.00 \$	15,000.00 \$	15,000.00 \$	15,000.00	\$ 100,000.00	\$ 100,000.00	\$ 64,566.00 \$	64,566.00	\$ 21,200.00	\$ 21,200.00	\$ 10,000.00 \$	10,000.00	
17	UNFORSEEN CONDITIONS (ALLOWANCE)	-	-	-	\$ 20,000.00	- \$	20,000.00	- \$	20,000.00	-	\$ 20,000.00	- \$	20,000.00	-	\$ 20,000.00	- \$	20,000.00	
18	UNIFORMED TRAFFIC DIRECTORS (ALLOWANCE)	-	-	-	\$ 40,000.00	- \$	40,000.00	- \$	40,000.00	-	\$ 40,000.00	- \$	40,000.00	-	\$ 40,000.00	- \$	40,000.00	
19	WET TAP INSTALLATION	6	EA	-	\$ 40,000.00	\$ 27,000.00 \$	162,000.00 \$	12,000.00 \$	72,000.00	\$ 10,000.00	\$ 60,000.00	\$ 14,950.00 \$	89,700.00	\$ 12,100.00	\$ 72,600.00	\$ 25,000.00 \$	150,000.00	
			BASE BID		\$ 1,329,810.00	\$	1,077,545.00	\$	1,282,980.00		\$ 1,290,793.90	\$	1,466,460.00		\$ 1,488,379.00	\$	1,525,785.00	
SUPPLEM	NTAL BID																	
S-1	HOT MIX ASPHALT 9.5M64 SURFACE COURSE, 2" THICK (CURB TO CURB)	7,000	SY	\$ 17.00	\$ 119,000.00	\$ 18.00 \$	126,000.00 \$	26.00 \$	182,000.00	\$ 19.90	\$ 139,300.00	\$ 17.22 \$	120,540.00	\$ 22.00	\$ 154,000.00	\$ 20.50 \$	143,500.00	
		SU	JPPLEMENTAL BID		\$ 119,000.00	\$	126,000.00	\$	182,000.00		\$ 139,300.00	\$	120,540.00		\$ 154,000.00	\$	143,500.00	
			BASE BID		\$ 1,329,810.00		1,077,545.00	_	1,282,980.00	1	\$ 1,290,793.90		1,466,460.00		\$ 1,488,379.00		1,525,785.00	

NOTES:
Your Way Construction, Inc.'s extended totals have been corrected where noted in accordance with the unit prices provided.

MORRIS COUNTY MUNICIPAL UTILTIES AUTHORITY
PLEASANT HILL ROAD 24-INCH PCCP RETIREMENT - PHASE 1
TOWNSHIP OF RANDOLPH, COUNTY OF MORRIS STATE OF NEW JERSEY
MCMUA CONTRACT NO.: 2024-W01

BID OPENING: JANUARY 30, 2025 AT 2:00PM

						YOUR WAY CONSTRUCTION, INC.  SPINIELLO COMPANIES		P.M. CONSTRU	JCTION CORP.	SANITARY CONSTR	UCTION CO.	MONTANA CONSTRUCTION, INC.		NEW PRINCE CONCRETE CONSTRUCTION CO., INC.			
				ENGINEER'S COST ESTIMATE		404 COIT STREET, IRVINGTON NJ 07111		354 EISENHOWER PARKWAY SUITE 1850, LIVINGSTON, NJ 07039		1310 CENTRAL AVENUE, HILLSIDE, NJ 07205		116 FAIRFIELD ROAD, FAIRFIELD, NJ 07004		80 CONTANT AVENUE, LODI, NJ 07644		215 ELLEEN TERRACE, HACKENSACK, NJ 07601	
ITEM NO.	DESCRIPTION	BID QUANTITY	UNIT	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
BASE BID																	
1	MOBILIZATION	1	LS	\$ 45,000.00	\$ 45,000.00	\$ 17,690.00 \$	17,690.00 \$	50,000.00 \$	50,000.00	\$ 50,500.00	\$ 50,500.00	\$ 55,000.00 \$	55,000.00	\$ 50,000.00	\$ 50,000.00	\$ 50,000.00 \$	50,000.00
2	SOIL EROSION AND SEDIMENT CONTROL	1	LS	\$ 5,000.00	\$ 5,000.00	\$ 1.00 \$	1.00 \$	22,000.00 \$	22,000.00	\$ 10,000.00	\$ 10,000.00	\$ 13,500.00 \$	13,500.00	\$ 25,000.00	\$ 25,000.00	\$ 35,000.00 \$	35,000.00
3	EXCAVATION, TEST PITS (IF AND WHERE DIRECTED)	5	CY	\$ 300.00	\$ 1,500.00	\$ 43.20 \$	216.00 \$	1,500.00 \$	7,500.00	\$ 100.00	\$ 500.00	\$ 675.00 \$	3,375.00	\$ 1.00	\$ 5.00	\$ 500.00 \$	2,500.00
4	EXCAVATION, ROCK (IF AND WHERE DIRECTED)	20	CY	\$ 200.00	\$ 4,000.00	\$ 335.00 \$	6,700.00 \$	500.00 \$	10,000.00	\$ 100.00	\$ 2,000.00	\$ 415.00 \$	8,300.00	\$ 1.00	\$ 20.00	\$ 250.00 \$	5,000.00
5	HOT MIX ASPHALT 25M64, BASE COURSE, 8" THICKNESS (TRENCH)	890	SY	\$ 65.00	\$ 57,850.00	\$ 74.10 \$	65,949.00 \$	63.00 \$	56,070.00	\$ 68.00	\$ 60,520.00	\$ 100.00 \$	89,000.00	\$ 150.00	\$ 133,500.00	\$ 55.00 \$	48,950.00
6	8" DIP CL 52 WATER MAIN & FITTINGS	110	LF	\$ 195.00	\$ 21,450.00	\$ 691.90 \$	76,109.00 \$	1,830.00 \$	201,300.00	\$ 200.00	\$ 22,000.00	\$ 915.00 \$	100,650.00	\$ 250.00	\$ 27,500.00	\$ 500.00 \$	55,000.00
7	12" DIP CL 52 WATER MAIN & FITTINGS	2,475	LF	\$ 240.00	\$ 594,000.00	\$ 308.75 \$	764,156.25 \$	289.00 \$	715,275.00	\$ 300.00	\$ 742,500.00	\$ 370.00 \$	915,750.00	\$ 300.00	\$ 742,500.00	\$ 350.00 \$	866,250.00
8	SPECIALTY CONNECTION 24" PCCP TO 12" DIP (FROM STA. 24+26 TO STA. 24+75) COMPLETE IN PLACE	1	LS	\$ 125,000.00	\$ 125,000.00	\$ 146,170.00 \$	146,170.00 \$	75,000.00 \$	75,000.00	\$ 250,000.00	\$ 250,000.00	\$ 110,000.00 \$	110,000.00	\$ 150,000.00	\$ 150,000.00	\$ 150,000.00 \$	150,000.00
9	WATER MAIN DISINFECTION & DECHLORINATION	2,585	LF	\$ 6.00	\$ 15,510.00	\$ 3.15 \$	8,142.75 \$	6.00 \$	15,510.00	\$ 10.00	\$ 25,850.00	\$ 5.00 \$	12,925.00	\$ 10.00	\$ 25,850.00	\$ 10.00 \$	25,850.00
10	1" WATER SERVICE CONNECTION	12	EA	\$ 4,000.00	\$ 48,000.00	\$ 4,080.00 \$	48,960.00 \$	5,580.00 \$	66,960.00	\$ 2,000.00	\$ 24,000.00	\$ 4,500.00 \$	54,000.00	\$ 10,000.00	\$ 120,000.00	\$ 5,000.00 \$	60,000.00
11	HYDRANT ASSEMBLY	6	EA	\$ 12,500.00	\$ 75,000.00	\$ 12,960.00 \$	77,760.00 \$	18,900.00 \$	113,400.00	\$ 10,000.00	\$ 60,000.00	\$ 16,500.00 \$	99,000.00	\$ 15,000.00	\$ 90,000.00	\$ 16,000.00 \$	96,000.00
12	8" GATE VALVE	5	EA	\$ 5,000.00	\$ 25,000.00	\$ 5,210.00 \$	26,050.00 \$	4,800.00 \$	24,000.00	\$ 5,000.00	\$ 25,000.00	\$ 3,400.00 \$	17,000.00	\$ 5,000.00	\$ 25,000.00	\$ 7,000.00 \$	35,000.00
13	12" GATE VALVE	11	EA	\$ 7,500.00	\$ 82,500.00	\$ 6,770.00 \$	74,470.00 \$	7,800.00 \$	85,800.00	\$ 10,000.00	\$ 110,000.00	\$ 6,000.00 \$	66,000.00	\$ 5,000.00	\$ 55,000.00	\$ 9,000.00 \$	99,000.00
14	24" PCCP LINE STOP (IF AND WHERE DIRECTED)	1	EA	\$ 100,000.00	\$ 100,000.00	\$ 76,720.00 \$	76,720.00 \$	40,000.00 \$	40,000.00	\$ 60,000.00	\$ 60,000.00	\$ 51,250.00 \$	51,250.00	\$ 10,000.00	\$ 10,000.00	\$ 100,000.00 \$	100,000.00
15	SOIL WASTE CHARACTERIZATION (ALLOWANCE)	-	-	-	\$ 10,000.00	- \$	10,000.00	- \$	10,000.00	-	\$ 10,000.00	- \$	10,000.00	-	\$ 10,000.00	- \$	10,000.00
16	MAINTAIN AND PROTECT TRAFFIC	1	LS	\$ 20,000.00	\$ 20,000.00	\$ 11,475.00 \$	11,475.00 \$	28,000.00 \$	28,000.00	\$ 50,000.00	\$ 50,000.00	\$ 12,500.00 \$	12,500.00	\$ 300,000.00	\$ 300,000.00	\$ 100,000.00 \$	100,000.00
17	UNFORSEEN CONDITIONS (ALLOWANCE)	-	-	-	\$ 20,000.00	- \$	20,000.00	- \$	20,000.00	-	\$ 20,000.00	- \$	20,000.00	-	\$ 20,000.00	- \$	20,000.00
18	UNIFORMED TRAFFIC DIRECTORS (ALLOWANCE)	-	-	-	\$ 40,000.00	- \$	40,000.00	- \$	40,000.00	-	\$ 40,000.00	- \$	40,000.00	-	\$ 40,000.00	- \$	40,000.00
19	WET TAP INSTALLATION	6	EA	-	\$ 40,000.00	\$ 13,910.00 \$	83,460.00 \$	22,150.00 \$	132,900.00	\$ 30,000.00	\$ 180,000.00	\$ 25,000.00 \$	150,000.00	\$ 15,000.00	\$ 90,000.00	\$ 25,000.00 \$	150,000.00
			BASE BID		\$ 1,329,810.00	\$	1,554,029.00	\$	1,713,715.00		\$ 1,742,870.00	\$	1,828,250.00		\$ 1,914,375.00	\$	1,948,550.00
SUPPLEME	NTAL BID																
S-1	HOT MIX ASPHALT 9.5M64 SURFACE COURSE, 2" THICK (CURB TO CURB)	7,000	SY	\$ 17.00	\$ 119,000.00	\$ 16.95 \$	118,650.00 \$	20.65 \$	144,550.00	\$ 18.00	\$ 126,000.00	\$ 24.50 \$	171,500.00	\$ 30.00	\$ 210,000.00	\$ 20.00 \$	140,000.00
		su	JPPLEMENTAL BID		\$ 119,000.00	\$	118,650.00	\$	144,550.00		\$ 126,000.00	\$	171,500.00		\$ 210,000.00	\$	140,000.00
						_				T						<b>,</b>	
			BASE BID		\$ 1,329,810.00	\$	1,554,029.00	\$	1,713,715.00		\$ 1,742,870.00	\$	1,828,250.00		\$ 1,914,375.00	\$	1,948,550.00
		BASE BID +SU	JPPLEMENTAL BID		\$ 1,448,810.00	\$	1,672,679.00	\$	1,858,265.00		\$ 1,868,870.00	\$	1,999,750.00		\$ 2,124,375.00	\$	2,088,550.00



### State of New Jersey

### DEPARTMENT OF ENVIRONMENTAL PROTECTION

DIVISION OF SUSTAINABLE WASTE MANAGEMENT BUREAU OF SOLID WASTE PLANNING & LICENSING 401 East State Street P.O. Box 420, Mail Code 401-02C Trenton, New Jersey 08625-0402 Tel. (609) 984-4250 • Fax (609) 292-1028

www.nj.gov/dep/dshw/swpl/index.html

SHAWN M. LATOURETTE

Commissioner

PHILIP D. MURPHY
Governor

TAHESHA L. WAY
Lt. Governor

January 17, 2025

James E. Deacon, Solid Waste Coordinator Morris County Municipal Utilities Authority 370 Richard Mine Road Wharton, NJ 07885

Dear Mr. Deacon,

The New Jersey Department of Environmental Protection's Division of Sustainable Waste Management, Bureau of Solid Waste Planning and Licensing is in receipt of a proposed amendment to the Morris County Solid Waste Management Plan (Plan) dated December 26, 2024. This amendment to the Plan proposes to allow Electronic Recyclers International, Inc. Class D (Universal Waste) Recycling Facility to receive, process, store, and transfer non-hazardous end-of-life solar panels. This facility is located at 510 Ryerson Road, Units 2 & 3, Block 22, Lot 338 in the Borough of Lincoln Park. The facility is currently approved for the receipt of 75 tons per day of Class D material. The facility's operating schedule for the receipt, processing, and/or transferring of materials is 5:30 am to 6:00 pm, Monday through Saturday.

Pursuant to N.J.A.C. 7:26-6.11(b)5, the modification of an existing facility, including acceptance of additional waste types in the Morris County Solid Waste Management Plan can be accomplished via administration action. Therefore, the County Plan amendment is hereby approved as an Administrative Action pursuant to N.J.A.C 7:26-6.11.

If you have any questions relative to this action, please contact me at (609) 940-5805.

Sincerely,

Jill Aspinwall, Section Chief

Jill Aspinwall

Bureau of Solid Waste Planning and Licensing